New Trend Mathematics (nd edition) S2B - Chapter Quiz

CHAPTER ¢ R ———

Inequalities

[Time allowed: 35 minutes]

1. Express each of the following sentences in an inequality and solve the inequality.

(a) The product of 3 and x plus 2 is less than or equal to 9. (5 marks)

Bx+2 %4

K o
"
(b) The sum of x and six times x is greater than 14, (5 marks)

X+bx > |4

x>y
X > 0
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(¢) The product of 8 and 2 is not less than half of x.
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2. (a) Is x =2 a solution of the inequality 4x~7 <1?
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(b) Is x=1 a solution of the inequality 2x+9=11? (4 marks)
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() Isx= % a solution of the inequality 2-x=17? (4 marks)
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3. Solve the following inequalities and represent the solutions graphically.

(a) 4x-T=x-1

(5 marks)
dy 12 x—
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(b) —3—>—4 (7 marks)
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() 2(x+1)-5=<103 (7 marks)
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x+l 1-x
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4. The difference between two integers is 5, and their sum is not less than 93, find the
smallest value of the smaller integer. \ (7 marks)

Wbt Smatler mbiger be X
et the lavger mbger he Xt5.

(X)t (xt5) > 5’3

X+X+t5> 93

Qx +5>, 93
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5. In a Mathematics competition|, 3 marks are given for each correct answer ks are
deducted for each wrong answer. If Kelly has answereuest;ons anc obtained
less tha@marks at most how many questions has she answercd correctlyy? (9 marks)
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and ¢ in inequalities.

(4 marks)

(4 marks)
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(6 (c) (4 marks)
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at the following statem re correct.
(a) Ifa> 2and@h a+bh>1. (4 marks)
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(b) Ifa<-3and b >4, then ab<-12. (4 marks)
¥ s R4S
Dot wie - M|«
’ ol iF X
G%\kj:v\\yﬂrs (b l
v - (R)(4) [<] -1 This Statoment
e 1S
A |<|-3 i it
0b
7

©2009 Chung¥1 Educational Press.  Allrig



New Trend Mathematics (znd Edition) $2B - Chapter Quiz - Chapter 8

8. A mobile phone service payment is charged as follows:

R o 1 vadiab

(Less than 1 minute will be charged fo ute.)

Mr. Legisauser-of the plan and he expécts the charge for this month[is at most 20 t

most /Mr. Lee spent on the mobile phone this month? (9 marks)
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